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* Giáo viên ra đề: Ngô Thị Toan
Đơn vị công tác: Trường THPT Từ Sơn 
* Giáo viên thẩm định: Hữu Thị Hà 
Đơn vị công tác: Trường THPT Lê Văn Thịnh

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions
Question 1. A. fame	            B. bad	        C.catch	   D. land
Question 2. A. them	            B. thick	        C. there	   D. though

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions
Question 3: A. approve 	B. perform	C. finish	D. believe
Question 4: A. assignment 	B. library	C. paragraph	D. sympathy

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions
Question 5. We should participate in the movements ______ to conserve the natural environment.
	A. organizing	   B. organized 	       C. to organize	           D. which organize 
Question 6. My new bed is ______ than the old one
     A. comfortable     B.most comfortable     C. more comfortable       D. the most comfortable
Question 7. She will see a bunch of flowers in front of her house ______ .
	A. once she came back home 	B. after she had come back home
	C. as soon as she came back home 	D. when she comes back home
Question 8: Local people believe that the festival is an opportunity for young generations to know ______  patriotism and bravery.
A. about 	                     B. of                       C. at	                        D. with
Question 9. The way  is very dangerous , _______?
	A. wasn’t it                     B. isn’t it                            C. has it                             D. is it
Question 10: Researchers also use ______  robots to collect samples of hot rocks or gases in active vocanoes. 
A. a                                 B. an                                   C. the	D. no article
Question 11: Ocean ______ , especially fragile ones like coral reefs, will also be affected by global warming. 
   A. flora		B. fauna    		C. enviroment  	D. ecosystem 
Question 12: Peter ______ some of his old love letters in his wife’s desk.
A. turned up 		B. got on 	    C. came across 	        D. went over
Question 13: They decided ______ to Japan for their summer holiday.
   A. going                    	B. to go                       	       C. go	 D. to going
Question 14: When I open my laptop to find an English file, I smell ______ .
   A.  a dog                   	   B.  a horse                 	     C.  a mouse                     D.  a rat  
Question 15:When the boss walked into the office, his secretary ______.
   A. has been typing 	 B.was typing 		C. is typing 	            D. had typed 
Question 16: In the formal interview, it is essential to maintain good eye______with the interviewers.
   A. contact		       B. touch			C. link		            D. connect
Question 17: This new watch ______ because he didn’t have enough money.  
  A. didn’t buy      	 B. wasn’t bought      	C. doesn’t  buy		D. hasn’t  bought
Question 18: I think mobile phones are ______ for people of all ages. 
   A. usage 			B. usefully 			C. useful 		D. use
Question 19: Uncle Ho had to use many _____ when he lived in foreign countries 
  A. family names		B. full names 	   C. pen-names          	D. alias  

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that best completes each of the following exchanges. 
Question 20:  Jennie is inviting Jason to join her volunteer group this summer. 
- Jennie: “Would you like to join our volunteer group this summer, Jason?” 
- Jason: “______”  .
 A.  Yes, I’d love to. 	  B.  Sorry I am busy now.        C.  Well- done! 	  D.  Me neither. 
Question 21: Jenny and Anna are discussing about the language.
Jenny: “I think that some languages will no longer be spoken.”
Anna: “ ______ . Some language are not used  very often by the local people.  ” 
A. Don’t you think so ?                                     B. I’m afraid so
C. I agree. It sounds nice                                  D. Let’s speak up

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) OPPOSITE in meaning  to the underlined word(s) in each of the following questions 
Question 22: My husband willingly helps me do the chores weekends so that I can have more time to relax with my children .
A. usually 		 B. reluctantly		C. voluntarily		D. readily
Question 23: Victory seems to be in the bag for the Ha Noi Football Club.
A. be easy               B. be late                C. be difficult                   D. be soon

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST  in meaning to the underlined word(s) in each of the following questions 
Question 24: Vitamins help  to boost  the immune system in our bodies . 
A. enhance               B. decrease 		C. reduce		D. maintain 
Question 25: My students are totally exhausted after having finished successive assignments in only one week. 
A. jobs 		  B. works	            	  C. exercises 		  D. problems 

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that closest in meaning to each of the following questions
Question 26: It is necessary for you to finish the report on Friday afternoon.
A.You can finish the report on Friday afternoon .  
B.You have to finish the report on Friday afternoon.
C.You may finish the report after on Friday afternoon.
D.You should finish  the report on Friday afternoon.
Question 27: I last met Mr Smith when I was ten .
A.I didn’t meet Mr Smith when I was ten .                B. I have met Mr Smith since I was ten.
C. It was not until I was ten that I met Mr Smith.      D. I haven’t  met Mr Smith since I was ten.
Question 28: “ What subjects do you have tomorrow ?” John asked Smith.
A. John asked Smith what subjects he had tomorrow. 
B. John asked Smith what subjects he had the next day.
C. John asked Smith what subjects does  he  have tomorrow.
D. John asked Smith what  subjects did he have the next day. 

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions
Question 29: It is impossible to get on well with your crew  because you will spend a lot of time with those people.
A.those                    B. impossible               C. will spend              D. your crew
Question 30: The natural resources will  run out by the end of this century. 
A.The                  B. natural                  C. will  run                  D. of
Question 31: Nowadays, grandparents stay at home to look after his grandchildren.
A.Nowadays                  B. stay                       C. look after                     D. his

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 32: I didn’t pay attention to the lesson. I failed to understand it. 
A.Provided that I paid attention to the lesson, I failed to understand it. 
B. If I had paid attention to the lesson, I would  have  understood it. 
C. If only I  paid attention to the lesson, I would have understood it .
D. If I  hadn’t paid attention to the lesson, I wouldn’t  have understood it .
Question 33: Just after I sat down to do homework,  there was a power failure.
A. Hardly did  I sit down to do homework  then there was a power failure.
B. Hardly had I sat down to do homework when there was a power failure.
C. No sooner had I sat down to do homework then  there was a power failure.
D. No sooner did  I sit down to do homework  before there was a power failure.

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38
      Tourism can bring many economic and social benefits, but mass tourism is also ___(34)___ with negative effects on environment. ___(35)___ the main problems are depletion of natural resources, and pollution.
      First, tourism puts pressure on natural resources. As a ___(36)___ cause of the loss of natural habitat, tourism directly affects rare and endangered species. An illustration is that over 500 plant species in the Mediterranean are on the verge of extinction. Lack of water is another  problem because during travel seasons, a huge amount of water is used for tourist activities like swimming pools, golf courses, and accommodations. This leads to periodic water shortages ___(37)___already exist in many regions and are likely to spread and increase.
       Another concern is pollution. Waste disposal is a serious problem in areas with high concerntrations of tourist activities. The production of wastewater and solid waste in tourist areas can negatively affect air and water quality.___(38)___ , exhaustion from traffic vehicles such as buses, trains and especially airplanes is a major source of air pollution.
                                                 ( Adapted from http://traveltips.usattoday)
	Question 34:
	A. impressed 
	B. coordinated 
	C. annoyed
	D. associated

	Question 35:
	A. Some of  
	B. Each of
	C. Much of 
	D. All of

	Question 36:
	A. big 
	B. major
	C. huge
	D. giant 

	Question 37:
	A. which
	B. whose
	C. who 
	D. where

	Question 38:
	A. In conclusion
	B. However 
	C. In addition
	D. Although



Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the question from 39 to 43
      Whenever the world’s weather goes to extremes, scientists, farmers, fishermen and politicians wonder aloud if there is some pattern, some unifying theory, that lies behind the event. The familiar explainations are trotted out: sunspots, atomic weapons testing, too much volcanic activity, not enough vocanic activities, wayward ocean currents. All of these phenomena have been blamed in the past. 

        Today, there is a unifying theory which many scientists believe  will turn out to be the right one – the complex web of suspected causes and effects known as the “greenhouse effect”. The greenhouse theory, now largely accepted by scientists, begins with the fact that a number of unrelated human activities-producing energy, farming, even the use of aerosol spray cans-are sending gases into the atmosphere, which may result in the globe warming. This may in turn be raising sea levels and altering the mechanics of the planet’s climate in ways which will radically change its landscape. It could be happening relatively quickly creating for our children an Earth which our parents would not recognise.
         No single weather event can be linked conclusively to the greenhouse effect, but many of the recent climatic events do match the possibilities raised in computer -generated “climate models”. This evidence of links is circumstantial but compelling. 
                                                                           ( Adapted from http://mentor.com)
Question 39:Which of the following can be the best title for the passage ?
A.The heat is on.                                                         B. The weather is hot.
C. The greenhouse gases.                                            D. The unpleasant asmostphere.                 
Question 40: The word “suspected ” in paragraph 2 mostly means ______ .
A.prestigious                 B. questionable                 C. ceremonial                D. difficult                         
Question 41: According to the passage, weather event can be linked ______ .
A. atomically weapons testing                              B. too much volcanic activity
C. conclusively wayward ocean currents              D. conclusively to the greenhouse effect
Question 42: The word  “ its”  in paragraph 2 refers to ______ . 
A.atmosphere’s                B. globe’s                 C. planet’s              D. farming’s 
Question 43: Which of the following is NOT true according to the passage ?
A.The weather goes extremely all over the world.      
B. Human activities cause greenhouse gas .
C. Aerosol spray doesn’t relate to global warming . 
D. Raising sea level is the result of global warming.

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the question from 44 to 50.  
       The keyboard of the modern typewriter is laid out in a most odd fashion. Why do anyone place the letters on the left side of the top row of the keyboard in the order Q W E R T Y ? The answer is to slow the typist down. But first, let’s consider the history of the typewriter itself.
        In the 1860’s a newspaper editor called Christopher Sholes lived in Milwaukee, USA. Sholes invented the first of the modern typewriters althought there had been patents for typewriter -like machines as early as 1714, when Queen Anne of England granted a patent to a man called Henry Mill for a machine which would make marks on paper “so neat and exact as not to be distinguished from print”. In 1892, William Austin Burt took out a patent on a typewriter, four years before the French inventor Xavier Projean produced his machine designed to record words.
       So the typewriter was not a new idea, although there had not been a successful realisation of the idea before Christopher Sholes’ machine. His typewriter become very popular and soon people learned to type very quickly- so quickly. In the first models, the keys were set alphabetically. When a quick typist tapped out a word like federal, it was very likely the adjacent E and D key would become entangled. Sholes therefore set about finding ways to slow the typist down. He looked for the letters which were most often used in English and then placed them far away from each other. For instance, Q and U are separated by five   intervening letters.
        When computers came into use in the latter part of the twentieth century, it was suggested that the keyboard should be rationalised . After all, there was no longer any need to avoid clashing manual typewriter keys. Although this made perfect sense, people found it very hard to learn to use a new keyboard and the idea was dropped. It is unlikely that the keyboard will ever be changed as we approach the twenty-first century the voice activated computer, already in an advanced state of  development, is becoming more and more accessible. It is very likely that we will soon have machines which take dictation as we speak to them and the keyboard will be used for corrections.
                                                                                  ( Adapted from http://test.com)     
Question 44:Which of  the following can be best title for the passage ?
A.The invention of keyboard                                    B. The computer’s keyboard
C. The keyboard’s changes                                       D. The use of keyboard
Question 45: The word “ intervening ”  in paragraph  3  is closest in meaning to ______ .
A.mediating            B. arbitrating                C. getting involved                D. interposing 
Question 46: According to paragraph 4, in the twenty-first century , the keyboard ______ .
A.will be used to write captial letters in the paragraph.
B. will be used to correct the mistakes in the text .                    
C. will be learned to use in any circumstances.                       
D. will be rationalised to use any time and any where. 
Question 47: The word “ His ”  in paragraph  3  refers to ______ .
A.William Austin Burt’s                                      B. Christopher Sholes’
C. Henry Mill’s                                                    D. Xavier Projean’s 
Question 48: The word “accessible ”  in paragraph 4  is closest in meaning to ______ .
A.far to reach                B. easy to have                 C. easy to use                         D. far to buy 
Question 49: Which of the following is NOT true according to the passage ?
A. An American newspaper editor was invented the first of the modern typewriters.
B. People learned to type the modern typewriters was very quickly.
C. Q and U which are almost always used together in English, are located nearby each other. 
D. Christopher Sholes’ typewriter looked like  Henry Mill’s machine used to mark on paper .
Question 50: Which of the following can be inferred from the passage ?
A.People don’t want to use the keyboard to type their document .
B. Modern keyboard will help the users  to type their document easily .
C. In the future, keyboard will be replaced by the voice activated computer.
D. People think that it is very difficult to learn how to use a new keyboard.

----------------------- THE END --------------------




















	SỞ GIÁO DỤC VÀ ĐÀO TẠO
BẮC NINH
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Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions
Question 1. A. fame	            B. bad	        C.catch	   D. land
Question 2. A. them	            B. thick	        C. there	   D. though

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the other three in the position of primary stress in each of the following questions
Question 3: A. approve 	B. perform	C. finish	D. believe
Question 4: A. assignment 	B. library	C. paragraph	D. sympathy

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions
Question 5. We should participate in the movements ______ to conserve the natural environment.
	A. organizing	   B. organized 	       C. to organize	           D. which organize 
Question 6. My new bed is ______ than the old one
     A. comfortable     B.most comfortable     C. more confortable       D. the most comfortable
Question 7. She will see a bunch of flowers in front of her house ______ .
	A. once she came back home 	B. after she had come back home
	C. as soon as she came back home 	D. when she comes back home
Question 8: Local people believe that the festival is an opportunity for young generations to know ______  patriotism and bravery.
A. about 	                     B. of                       C. at	                        D. with
Question 9. The way  is very dangerous , _______?
	A. wasn’t it                     B. isn’t it                            C. has it                             D. is it
Question 10: Researchers also use ______  robots to collect samples of hot rocks or gases in active vocanoes. 
A. a                                 B. an                                   C. the	D. no article
Question 11: Ocean ______ , especially fragile ones like coral reefs, will also be affected by global warming. 
   A. flora		B. fauna    		C. enviroment  	D. ecosystem 
Question 12: Peter ______ some of his old love letters in his wife’s desk.
B. turned up 		B. got on 	    C. came across 	        D. went over
Question 13: They decided ______ to Japan for their summer holiday.
   A. going                    	B. to go                       	       C. go	 D. to going
Question 14: When I open my laptop to find an English file, I smell ______ .
   A.  a dog                   	   B.  a horse                 	     C.  a mouse                     D.  a rat  
Question 15:When the boss walked into the office, his secretary ______.
   A. has been typing 	B.was typing 			C. is typing 	            D. had typed 
Question 16: In the formal interview, it is essential to maintain good eye______with the interviewers.
   A. contact		B. touch			C. link		            D. connect
Question 17: This new watch ______ because he didn’t have enough money.  
  A. didn’t buy      	 B. wasn’t bought      	C. doesn’t  buy		D. hasn’t  bought
Question 18: I think mobile phones are ______ for people of all ages. 
   A. usage 			B. usefully 			C. useful 		D. use
Question 19: Uncle Ho had to use many _____ when he lived in foreign countries 
  A. family names		B. full names 	   C. pen-names          	D. alias  

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that best completes each of the following exchanges. 
Question 20:  Jennie is inviting Jason to join her volunteer group this summer. 
- Jennie: “Would you like to join our volunteer group this summer, Jason?” 
- Jason: “______”  .
   A.  Yes, I’d love to. 	  B.  Sorry I am busy now.        C.  Well- done! 	  D.  Me neither. 
Question 21: Jenny and Anna are discussing about the language.
Jenny: “I think that some languages will no longer be spoken.”
Anna: “ ______ . Some language are not used  very often by the local people.  ” 
A. Don’t you think so ?                                     B. I’m afraid so
C. I agree. It sounds nice                                  D. Let’s speak up

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) OPPOSITE in meaning  to the underlined word(s) in each of the following questions 
Question 22: My husband willingly helps me do the chores weekends so that I can have more time to relax with my children .
A. usually 		 B. reluctantly		C. voluntarily		D. readily
Question 23: Victory seems to be in the bag for the Ha Noi Football Club.
A. be easy               B. be late                C. be difficult                   D. be soon

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST  in meaning to the underlined word(s) in each of the following questions 
Question 24: Vitamins help  to boost  the immune system in our bodies . 
A. enhance               B. decrease 		C. reduce		D. maintain 
Question 25: My students are totally exhausted after having finished successive assignments in only one week. 
A. jobs 		  B. works	            	  C. exercises 		  D. problems 
Mark the letter A, B, C or D on your answer sheet to indicate the sentence that closest in meaning to each of the following questions
Question 26: It is necessary for you to finish the report on Friday afternoon.
A.You can finish the report on Friday afternoon .  
B.You have to finish the report on Friday afternoon.
C.You may finish the report after on Friday afternoon.
D.You should finish  the report on Friday afternoon.
Question 27: I last met Mr Smith when I was ten .
A.I didn’t meet Mr Smith when I was ten .                B. I have met Mr Smith since I was ten.
C. It was not until I was ten that I met Mr Smith.      D. I haven’t  met Mr Smith since I was ten.
Question 28: “ What subjects do you have tomorrow ?” John asked Smith.
A. John asked Smith what subjects he had tomorrow. 
B. John asked Smith what subjects he had the next day.
C. John asked Smith what subjects does  he  have tomorrow.
D. John asked Smith what  subjects did he have the next day. 

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in each of the following questions
Question 29: It is impossible to get on well with your crew  because you will spend a lot of time with those people.
A.those                    B. impossible               C. will spend              D. your crew
Question 30: The natural resources will  run out by the end of this century. 
A.The                  B. natural                  C. will  run                  D. of
Question 31: Nowadays, grandparents stay at home to look after his grandchildren.
A.Nowadays                  B. stay                       C. look after                     D. his

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that best combines each pair of sentences in the following questions.
Question 32: I didn’t pay attention to the lesson. I failed to understand it. 
A.Provided that I paid attention to the lesson, I failed to understand it. 
B. If I had paid attention to the lesson, I would  have  understood it. 
C. If only I  paid attention to the lesson, I would have understood it .
D. If I  hadn’t paid attention to the lesson, I wouldn’t  have understood it .
Question 33: Just after I sat down to do homework,  there was a power failure.
A. Hardly did  I sit down to do homework  then there was a power failure.
B. Hardly had I sat down to do homework when there was a power failure.
C. No sooner had I sat down to do homework then  there was a power failure.
D. No sooner did  I sit down to do homework  before there was a power failure.

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word or phrase that best fits each of the numbered blanks from 34 to 38
        Tourism can bring many economic and social benefits, but mass tourism is also ___(34)___ with negative effects on environment. ___(35)___ the main problems are depletion of natural resources, and pollution.
        First, tourism puts pressure on natural resources. As a ___(36)___ cause of the loss of natural habitat, tourism directly affects rare and endangered species. An illustration is that over 500 plant species in the Mediterranean are on the verge of extinction. Lack of water is another  problem because during travel seasons, a huge amount of water is used for tourist activities like swimming pools, golf courses, and accommodations. This leads to periodic water shortages ___(37)___already exist in many regions and are likely to spread and increase.
      Another concern is pollution. Waste disposal is a serious problem in areas with high concerntrations of tourist activities. The production of wastewater and solid waste in tourist areas can negatively affect air and water quality.___(38)___ , exhaustion from traffic vehicles such as buses, trains and especially airplanes is a major source of air pollution.
                                                 ( Adapted from http://traveltips.usattoday)
	Question 34:
	A. impressed 
	B. coordinated 
	C. annoyed
	D. associated

	Question 35:
	A. Some of  
	B. Each of
	C. Much of 
	D. All of

	Question 36:
	A. big 
	B. major
	C. huge
	D. giant 

	Question 37:
	A. which
	B. whose
	C. who 
	D. where

	Question 38:
	A. In conclusion
	B. However 
	C. In addition
	D. Although



Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the question from 39 to 43
        Whenever the world’s weather goes to extremes, scientists, farmers, fishermen and politicians wonder aloud if there is some pattern, some unifying theory, that lies behind the event. The familiar explainations are trotted out: sunspots, atomic weapons testing, too much volcanic activity, not enough vocanic activities, wayward ocean currents. All of these phenomena have been blamed in the past. 

       Today, there is a unifying theory which many scientists believe  will turn out to be the right one – the complex web of suspected causes and effects known as the “greenhouse effect”. The greenhouse theory, now largely accepted by scientists, begins with the fact that a number of unrelated human activities-producing energy, farming, even the use of aerosol spray cans-are sending gases into the atmosphere, which may result in the globe warming. This may in turn be raising sea levels and altering the mechanics of the planet’s climate in ways which will radically change its landscape. It could be happening relatively quickly creating for our children an Earth which our parents would not recognise.
       No single weather event can be linked conclusively to the greenhouse effect, but many of the recent climatic events do match the possibilities raised in computer -generated “climate models”. This evidence of links is circumstantial but compelling. 
                                                                           ( Adapted from http://mentor.com)
Question 39:Which of the following can be the best title for the passage ?
A.The heat is on.                                                         B. The weather is hot.
C. The greenhouse gases.                                            D. The unpleasant asmostphere.                 
Question 40: The word “suspected ” in paragraph 2 mostly means ______ .
A.prestigious                 B. questionable                 C. ceremonial                D. difficult                         
Question 41: According to the passage, weather event can be linked ______ .
A. atomically weapons testing                              B. too much volcanic activity
C. conclusively wayward ocean currents              D. conclusively to the greenhouse effect
Question 42: The word  “ its”  in paragraph 2 refers to ______ . 
A.atmosphere’s                B. globe’s                 C. planet’s              D. farming’s 
Question 43: Which of the following is NOT true according to the passage ?
A.The weather goes extremely all over the world.      
B. Human activities cause greenhouse gas .
C. Aerosol spray doesn’t relate to global warming . 
D. Raising sea level is the result of global warming.

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the question from 44 to 50.  
        The keyboard of the modern typewriter is laid out in a most odd fashion. Why do anyone place the letters on the left side of the top row of the keyboard in the order Q W E R T Y ? The answer is to slow the typist down. But first, let’s consider the history of the typewriter itself.
        In the 1860’s a newspaper editor called Christopher Sholes lived in Milwaukee, USA. Sholes invented the first of the modern typewriters althought there had been patents for typewriter -like machines as early as 1714, when Queen Anne of England granted a patent to a man called Henry Mill for a machine which would make marks on paper “so neat and exact as not to be distinguished from print”. In 1892, William Austin Burt took out a patent on a typewriter, four years before the French inventor Xavier Projean produced his machine designed to record words.
         So the typewriter was not a new idea, although there had not been a successful realisation of the idea before Christopher Sholes’ machine. His typewriter become very popular and soon people learned to type very quickly- so quickly. In the first models, the keys were set alphabetically. When a quick typist tapped out a word like federal, it was very likely the adjacent E and D key would become entangled. Sholes therefore set about finding ways to slow the typist down. He looked for the letters which were most often used in English and then placed them far away from each other. For instance, Q and U are separated by five   intervening letters.
        When computers came into use in the latter part of the twentieth century, it was suggested that the keyboard should be rationalised . After all, there was no longer any need to avoid clashing manual typewriter keys. Although this made perfect sense, people found it very hard to learn to use a new keyboard and the idea was dropped. It is unlikely that the keyboard will ever be changed as we approach the twenty-first century the voice activated computer, already in an advanced state of  development, is becoming more and more accessible. It is very likely that we will soon have machines which take dictation as we speak to them and the keyboard will be used for corrections.
                                                                                  ( Adapted from http://test.com)     
Question 44:Which of  the following can be best title for the passage ?
A.The invention of keyboard                                    B. The computer’s keyboard
C. The keyboard’s changes                                       D. The use of keyboard
Question 45: The word “ intervening ”  in paragraph  3  is closest in meaning to ______ .
A.mediating            B. arbitrating                C. getting involved                D. interposing 
Question 46: According to paragraph 4, in the twenty-first century , the keyboard ______ .
A.will be used to write captial letters in the paragraph.
B. will be used to correct the mistakes in the text .                    
C. will be learned to use in any circumstances.                       
D. will be rationalised to use any time and any where. 
Question 47: The word “ His ”  in paragraph  3  refers to ______ .
A.William Austin Burt’s                                      B. Christopher Sholes’
C. Henry Mill’s                                                    D. Xavier Projean’s 
Question 48: The word “accessible ”  in paragraph 4  is closest in meaning to ______ .
A.far to reach                B. easy to have                 C. easy to use                         D. far to buy 
Question 49: Which of the following is NOT true according to the passage ?
A. An American newspaper editor was invented the first of the modern typewriters.
B. People learned to type the modern typewriters was very quickly.
C. Q and U which are almost always used together in English, are located nearby each other. 
D. Christopher Sholes’ typewriter looked like  Henry Mill’s machine used to mark on paper .
Question 50: Which of the following can be inferred from the passage ?
A.People don’t want to use the keyboard to type their document .
B. Modern keyboard will help the users  to type their document easily .
C. In the future, keyboard will be replaced by the voice activated computer.
D. People think that it is very difficult to learn how to use a new keyboard.

----------------------- THE END --------------------


